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2.1 7y7A)
(1) /D2/D5/D7/f1
(2) ../../D2/D5/D7/f1
2.2 a<w. R
(1) rm hoge (2) mkdir hoge
(3) 1s (4) cd ..
(5) cd (6) mv hoge ../huga
(7) rm -rf hoge (8) pwd
(9) rmdir hoge (10) cd hoge
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sample.c

(2) cc —-o hogerun hoge.c
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(2) printf O X TNT 3 —F— a THENTZES T, &ITLEWVNLEIC, \n 2EL,

(3) printf("i=%e6d\n", 1i);

(4) printf ("x=%.5f\n", x);
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(2) int k,m;
(3) double a,b;
(4) z=-4.321;
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(2) scanf ("%d", &n);

(3) scanf ("$1f", &z);
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#include <stdio.h> #include <stdio.h>
int main () int main ()

{
printf ("What a pretty flower!\n\n\n");
printf ("No folwer is so beautiful as this.");

return (0) ;

int miso, shoyu, gyoza;
int zairyo, uriage;

zairyo = 10000;

printf ("BRME T — X D52 EIF [FR]2\n") ;

scanf ("%d", &miso) ;

printf ("M T — A DY EIF [FR]2\n") ;

scanf ("%d", &shoyu) ;

printf ("EEFOFEY BT[] 2\n") ;

scanf ("%d", &gyoza) ;
uriage = 480*miso+450*shoyu+300*gyoza;

printf(" ***** *IJH 777777 \nll) ;

printf ("sd H\n", uriage-zairyo);

return (0);



